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400 BC 1803 1897 1911 1913 1926
Atomos Solid Sphere Plum Pudding Nuclear Planetary Quantum
Democritus John Dalton J.J. Thomson Ernest Rutherford Niels Bohr Erwin Schradinger

o~
Atoms are the building Atom is a solid indivisible Negative electrons are Positive charges are Electrons are restricted in Electrons are in clouds
blocks of matter, the shape sphere. embedded in a sea of located within a central circular orbits with different surrounding the nucleus,
of an atom explain positive charges. nucleus. energy levels. and this cloud is less
elements behavior. dense.

https://www.youtube.com/watch?v=6LaWezI3COQ
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Name the particles found in an atom.
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Relative Sizes:

If protons and neutrons

were the size of marbles.

The actual size of the atomwould be similar to a football stadium.
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Describe the relative size of an atom
and its nucleus, using an everyday
example to illustrate the sizes
involved.
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J. J. Thomson

Describe the behaviour of a beam of Gadad Wi U9 ASIYI (e doj & glaw s
electrons when an electric field is Aoyl de élﬁﬂsdl‘?“’
applied across the beam. )

positively charged
metal plate
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Explain what the change in direction
of the beam of protons, neutrons or
electrons shows about the charge of
each particle.
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State why a larger voltage is needed
to change the direction of a proton
beam than an electron beam.
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Describe the evidence this gives about
the charge and size of electrons.

Describe the change in direction of a
beam of protons, neutrons or
electrons moving at the same velocity
in an electric field past a positive
charge.
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